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Master Measuring Length in Mixed Measures (cm and mm) B

Fluency 1 Fluency 1

Use the rulers to write the measurements of A, B and C. Use the rulers to write the measurements of A, B and C. o

A'is pointing to cm and mm. A'is pointing to cm and mm. z
pe

B is pointing to cm and mm. B is pointing to cm and mm. g
£

C is pointing to cm and mm. Cis pointing to cm and mm. 3
O
9.9
o 8
5

Fluency 2 Fluency 2 pQ
g )

Write the height of each flower in mixed measures. Write the height of each flower in mixed measures. g 2

Complete the stem sentence. Complete the stem sentence. g E
£ 9

The height of flower A is cm and mm. The height of flower A is cm and mm. § §
O 5

The height of flower B is cm and mm. The height of flower B is cm and mm. c 3

The height of flower Cis cm and mm. The height of flower Cis cm and mm.

Fluency 3 Fluency 3

Wwrite the length of each leaf in mixed measures. Write the length of each leaf in mixed measures.

Complete the stem sentence. Complete the stem sentence.

The length of leaf Ais cm and mm. The length of leaf A'is cm and mm.

The length of the leaf B is cm and mm. The length of the leaf B is cm and mm.
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Fluency 4
Use the ruler to estimate the length of the branch.

An estimation for the length of the branch is cm and
mm.

Fluency 5

Use the ruler to estimate the height of the garden gnome.

An estimation for the height of the garden gnome is cm
and mm.
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and mm.
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